Installation Instruction




Instructions

Upon receipt of new products, they may possess a distinct scent that requires settling for a period of time.
During transit, the foam might detach slightly, thus giving an appearance similar to glass fiber. The sawdust
adhering to the board may cause minor discomfort to your hands. Kindly attempt wiping the board with a

damp cloth to assess if the scratches on the board can be removed.

Before Assembly

Tips Before Your Start:

- Remove all wrapping material, including staples & packing straps before you start to assemble.
- DO NOT tighten all screws and bolts until the assembly is completely assembled

- Keep all hardware parts out of reach of children.

QUICKFIT

Qshoulder E /
Panel | Panel /

Tighten quickfit until shoulder is flush with panel. Do not overtighten or undertighten.

CAM LOCK

@ ®]
‘/tﬁ f ﬁx

CORRECT WRONG

When fitting a cam lock, ensure the starting position is correct before inserting the connecting QUI CKFIT

Quickfit head should be in the
centre of the cam lock when the
two panels are joined.

Cam lock should be inserted
before quickfit.

Turn cam lock clockwise to tighten.



Assembling

Estimated time for assembly

45 : 00

What you need

Use the packaging carton as a
working surface to prevent product
damage during assembly

Phillips head screwdriver

>

Weight Limitation

A\ 100 | 35

Ibs table top lbs per
;fa :

i

IMPORTANT:

Y% M6*28 . ... .. .. DOx 16pcs
ow M35*%14. . . ... .. ®x 6pcs
Y% M6*12 . .. ..... ®x 16pcs
@ M6*10 . ... .. .. ©x 4pcs
L M4*55 ... @x 1pc
J Me*32 ... ... .. O x 4pcs

1.Do not tighten bolts / screws completely until all bolts / screws are lined up and inserted into holes.
2.Do not over tighten screws and bolts to avoid stripping

3



The Accessoriess




Step 1 A Ix129[C Ix 16

i) NS

When assembling the panel, please do not touch the groundy directly
to avoid scratching the table top

Step 2 B [x 6




Step 3

oo

~
o

L

H

Step 4

Align board No. 2 with the hole on board No.
1, and then install it with screw D

D [x 12




x 4

x 1

Step 5

Piig

x 1

x 8




Step 7

X 6




Attach Board 4 neatly to the
Velcro of iron 5and 6
(Attention: Please fully
stretch part 4 and then stick
it tightly along the Velcro to
avoid gaps that affect the
appearance. If there are
obvious gaps, tear them off
and stick them again.)



D x 4 H x 1

[
- D
D
1D
Step 12 | —




Step 13

[

| — |

N

/

g

K//////////7/////7/7
‘

|

~

M///////////////////
>

]

)

11

i




	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)
	圆桌说明书-3 Model (1)

